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3. Figures to the right indicate full marks.

Q.1 (a) Explain advancement in total station technologies
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State and explain any one method of balancing of traverse.

07
07

Calculate consecutive co-ordinate latitude and departure with the help of the 07
following observation taken in closed traverse.

Line Length in | Bearing
meter

AB 35 40°2520"

BC 42 110°38'00"

CD 38 200°57'00"

DA 30 250°00'40"

EA 39 300°3920"

Derive formula for trigonometric leveling when base of the object is

inaccessible and both the instruments are at same level.

State and explain the tacheometric survey methods.
Define the tacheometric constant and describe the field method to find out

that constant.

Derive the equation for the tangential tacheometry when both angles are

upward.

Staff held vertical on point A. observation taken on staff were 0.5 m & 3.5
m vertical angle +5°30' & 9°48' respectively. RL of axis is 100 m. find out
distance between instrument station and point A and also RL of point A.
OR
Derive an expression to calculate horizontal distance and elevation for staff
held vertical and line of sight inclined down ward.
A tacheometer was set up at point A and the following reading were taken

OR
Explain fundamental parameters of total station.

OR
Describe the precaution to be taken while using total station.
Explain general setting of total station.

Staff Vertical Staff reading remarks

station | angle

TBM | +2°1620" | 1.640 | 1.920 |2.200 | RL 100
m

B +8°24'00" | 2.255]2.605 |2955 |--

Tacheometry constant are 100 & 0. find out distance between A & B. also

find out the RL of station B.
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(a) Draw a sketch and explain the element of simple circular curve. 07
(b) Calculate offset length from long chord for setting out a circular curve from 07
following data.
e Off set interval 5 m
e deflection angle 65°
e radius of curve 200 m
OR
(a) State and explain the any one method of setting out of simple circular cure. 07
(b) Calculate the necessary data and tabulate the actual reading of deflection 07
angle to be set out by rankine's methods of tangential angle from the
following data.
e Two tangents intersect at chain age 1312 m.
The deflection angle 36°
Radius of curve 125 m.
Peg interval 20 m.

1o 2led Rl 25l AHL Gatcdl uresal. 07
HARWMEL AH A LA osuel AHal sleurl As Il AHestaAl. 07

“oosHls A wWelial A YAl allddl ol HaRwMElell {As 07
dlUstisoll Heeell 5.

AU dolles Hleui REINI

AB 35 40° 25' 20"
BC 42 110° 28' 00"
CD 38 200° 57' 00"
DE 30 250° 00' 40"
EA 39 300° 39' 20"

a4 lsloldla dAeeHl s GUSWell WUt GUR UslRll asal an 07
ol SlA daUl ol BUsWL Wlate{l weal AsA sla ”R_R AYSsall
Raol dl UELE Wel dRg] R dal BusWL wadl ueldd
lotoll GUE Wucll Hi2ef Yot Aol 3.

AYL
4 22 Raloll Ynejd UAHle uxendl. 07
o 2glalAdls Uude{l A wRudl e UM 07
o 25lARAls AANISe{l cauaul W Mal glesHl AHaAnls Wl 07
A aelal.
AYL
“o2led RAelal AUl auad Al Ataddl ddellRA aulal, 07
4 2led R2Uolo] ULHLeA UMt Yusal. 07
2o ualsla IAdul cial GAdslal 8lA Al ¥R AHy GUES URell YA
naal. 07



UL A UR el €5 ol Grelltd? AWl ARl €5 URell cikelis 07

0.5 Hle? & 2.5 Hle? GtelltR SlBL +5°30" & +9°48' YHIA B. elsll
ANel GAS 100 Hl2R & Al BUSWU Wal WUl A Ao} dR AHY

ULt A ol WAL GALE WL
wYal

ddetal £s Gea gl Ul e 2wl o{lAoll ity ARl Slat R 8l

AR Aol Geal GALSAl LAl sRcllotl UH$RWU AR
zslalHleRaA A et uR a0scll o{lAstl cllUalis lc B.

ddall | Ged sl Al UsliS (Qa

£59]

ULt

TBM +2°16'20" | 1.640 |1.920 | 2.200 | RL 100
Hle?

B + 8°24'00" | 2.255 | 2.605 | 2.955 | --

eslallleRell AUANS 100 AUA 0 B Al A wal B clRAg] vdR AHX B

ol el G 2.

AR ANUSIR asoll gl €131 Aotl w2sl UMl
AR JNUSIR cse] UisLL sl Elelall URell wajcdelloll a1l
ol Aell 1Sl uell 521,

o Aofciol AR 5.0 Hle?

o [(QuAASt Sl 65°

e ds > 200 Hle?
wYal

AR JNOUSIR aAse] Aiskl scllell Il cul Wal SlFuRL As
Al
ol Aol HEAl URel 2wslotoll 2ualsla slglell Adell URA sy
WAt scll (AUt SlRlell clUatise] 201A olollcll 33 2Lzl
2.

o A 5ol Beat (ga] Aisnis 1312 22

o ([QuAst Sl 36°

o asoll Sl 125 Hl2?

o WL ¥R 20 Hle?

st st sfe sfesheskeoskeoske sk ke sk

07

07

07
07

07

07



